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1. Introduction
Below is the RAN4 agreements until last meeting:
	· Intra-frequency handover requirements for make-before-break solution
· Handover delay

· When the UE receives a RRC message implying handover the UE shall be ready to start the transmission of the new uplink PRACH channel within Dhandover seconds from the end of the last TTI containing the RRC command.
· Dhandover equals the maximum RRC procedure delay to be defined in clause 11.2 in TS 36.331 [2] plus the handover processing time (equivalent to Tinterrupt as in legacy handover procedure)
· Interruption time

· FFS. Taking handover cases with BW change and without BW change into consideration

· Note: the requirements for interruption time could be general for the handover cases with or without BW change.


In this contributions, it discusses the issue of current operation for make before break when the source and target eNB bandwidth is different.
2. Discussion
Below is the RAN2 agreements for make before break solution:
	Solution 2:

· The “make before break handover solution” means the UE continues downlink and uplink with the source cell until the UE performs the first transmission through PUSCH or PRACH to the target eNB.

· The solution is applicable for intra frequency handover and SCG change. Inter frequency case is FFS.

· Consider RACH-less solution and "maintaining a connection to the source eNB" as two independent mechanisms, activation of which is up to the network decision. Two solutions can be activated simultaneously.


The“make before break handover solution” means the UE continues downlink and uplink with the source cell until the UE performs the first transmission (PUSCH or PRACH) to target eNB. However, during last RAN4 meeting, target eNB BW change problem was discussed. In order to change BW for target cell, the RF chain might be adjusted to cover different BW. In addition to the RF chain adjusting, the AGC adjusting is also needed if the BW is changed. Taking into account for these factors for BW change, the interruption time is estimated up to 5ms. This means that the UE will not be able to receive data from source cell for up to 5ms during this time. This problem will only happen where the source cell and target cell bandwidth is different. Therefore, we propose to discuss the below options for the UE procedure for make before break solution:

· Option 1: the UE continues downlink and uplink with the source cell until the UE performs RF tuning to target cell.
· In this option, the UE stops with source cell when the UE performs RF adjustments for target. In case of same bandwidth, the UE will stop with source when it is ready for first PUSCH or PRACH transmission.

· Option 2: Up to UE implementation with note in specification “it can be up to UE implementation when to stop the data from source when the bandwidth of source and target is different”
· In this option, it will be up to the UE implementation when to stop the data from source cell. If it is required RF tuning for bandwidth, it may stop data from source cell. We can add a note in the specification saying that it can be up to UE implementation when to stop the data from source when the bandwidth of source and target is different.

Proposal: RAN2 to discussion and decide one of the option above for the interruption causes by the RF tuning.
3. Conclusions

We discussed the bandwidth difference issue between source and target cell which causes up to 5ms interruption time during the UE communicates with the source cell. Therefore, we propose RAN2 to discuss and decide one of the options below to resolve this issue:
· Option 1: the UE continues downlink and uplink with the source cell until the UE performs RF tuning to target cell.

· Option 2: Up to UE implementation with note in specification “it can be up to UE implementation when to stop the data from source when the bandwidth of source and target is different”

Proposal: RAN2 to discussion and decide one of the option above for the interruption causes by the RF tuning.
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